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®EMA 1
Na hudel 1 Swgopixt| e€lowan

(z2yte¥ — z2y? — 3x)y + 2zyte? + 223 +y =0
(Movédec 2)
O®EMA 2
Na Bpedel n yevixr hon e
22y" — 2xy + 2y =62, x> 0.

(Movédec 2)
®EMA 3
Na hudel n Swagopint| e€lowon
y//_y/ — 31 + 46°

(Movédec 2)

OEMA 4
No Avdel 0 TpoBAnua apyIxmy TIHGY
10 0 1
Y@)=(0 1 -1 |y), y0)= |1
01 1 1

(Movédecg 2)
®EMA 5
No Avdel i axdrovdn M.AE.

U (T, 1) = Uge(z,t), O<z <7, 0<1t
u(0,t) =0, u(m,t) =0, 0< ¢
u(z,0) = 3sinz, w(z,0)=0, 0<z <7

(Movédec 2)

AIAPKEIA: 21 QPEX
KAAH ENITYTXIA!



